Problem Solving mid-term exam
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#include <stdio.h>

#include <string.h>

int main(void) {
char input[16];
int i, j, length, ret = 1;

printf("Input string: ");
fgets( input, sizeof(input), stdin );
length = strlen(input) - 1;

i=0;

j=length-1;

while ( i < length / 2 ) {
if (input[i] != input[j]) {

ret = 0;
break;

}

i++;

3--3

if(ret == 1) puts("Palindrome!");

else puts("Normal word!");

return 0;
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#tinclude <stdio.h>

#include <stdlib.h>

int main(void){
char input[16];
int i;

int length=0;

scanf("%s", input);

for(i=0; i<16; i++){
if(input[i]=="\0")
break;

length++;

for(i=0; i<length; i++){

printf("%c", input[length-i-1]);
}
printf("\n");

return 0;
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3 9 7 4 2 6
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void quickSort(int *parr, int left, int right){
int q;
if( (@) ){
g = partition(parr, left, right);
quickSort(parr, left, (®) );

quickSort(parr, (©) , right);

}
int partition(int *parr, int left, int right){
int pivot = parr[right];
int i = left - 1;
int j;
for(j = left ; j < right ; j++){
if( (@) ){
i++;

swap(&parr[i], &parr[j]);




}

swap(&parr[i+l], &parr[right]);

return i+1;

}
void swap( int *v1, int *v2 ){
int t = *vi;
*vl = *v2;
*v2 = t;
}
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#include <stdio.h>
#tinclude <stdlib.h>

#include <string.h>

ttdefine MAXDIGIT 100
#tdefine PLUS 1
#tdefine MINUS -1

typedef struct {

char digits[MAXDIGIT];

int signbit;
int lastdigit;

} bignum;
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int compare_bignum(bignum *a, bignum *b) {

int i=0;

if(a->signbit == PLUS && b->signbit == MINUS)

return PLUS;

if(a->signbit == MINUS && b->signbit == PLUS)

return MINUS;

if(a->lastdigit > b->lastdigit)

return ( PLUS * a->signbit );

if(a->lastdigit < b->lastdigit)

return ( MINUS * a->singbit );

else{

for(i=a->lastdigit; i»=0; i--){

if(a->digits[i]>b->digits[i])




return PLUS;
else if(a->digits[i]<b->digits[i])
return MINUS;

return 0;
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void print_bignum(bignum *a) {

int i;

if(a—>signbit == MINUS) pPintf("—");

for (i = a->lastdigit -1 ; i >0 ; i--)
printf("%c", a->digits[i]);
printf("\n");

void main() {
int i;
//bignum a, b, c2| X MRz Y

bignum *a = (bignum*)malloc(sizeof(bignum));

bignum *b (bignum*)malloc(sizeof(bignum));
bignum *c = (bignum*)malloc(sizeof(bignum));

char tmp[MAXDIGIT];
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gets(a->digits);
gets(b->digits);

a->lastdigit = strlen(a->digits);

b->lastdigit = strlen(b->digits);

strcpy(tmp, a->digits);




for(i=0; i<a->lastdigit; i++)

a->digits[i] = tmp[a->lastdigit - i - 1];

strcpy(tmp, b->digits);
for(i=0; i<b->lastdigit; i++)

b->digits[i] = tmp[b->lastdigit - i - 1];
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if(a->digits[a->lastdigit - 1] == '-") {
a->signbit = MINUS;
a->digits[a->lastdigit - 1]=NULL;
a->lastdigit--;

}

else
a->signbit = PLUS;

if(b->digits[b->lastdigit - 1] == '-') {
b->signbit = MINUS;
b->digits[b->lastdigit - 1]=NULL;
b->lastdigit--;

}

else

b->signbit = PLUS;
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printf("The bigger number is ");

if( compare_bignum(a,b) == PLUS)
print_bignum(a);

else

print_bignum(b);
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#tinclude <stdio.h>
// nCk 9| gtZ E|Hdt= &

int bc(int n, int k)

{
if (n==k) return 1 ;
if (k==1) return n ;
return bc(n-1, k-1) + bc(n-1,k) ;
}
int main()
{

int n,m;

while ( scanf("%d %d", &n, &m) != EOF )

{

printf("%lu\n", bc(n,m));
}
return 0;
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#include <stdio.h>

int fibonacci(int n)

{
printf("%d\n", n);
// base case of recursion
if(n == 1)
return 1;
else if(n == 2)
return 2;
else
return fibonacci(n-1) + fibonacci(n-2);
}
int main(void)
{
printf("5th Fibonacci number is %d\n", fibonacci(5));
return 0;
}
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5th Fibonacci number is 8




